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Egzamin z chemii organicznej B (30.06.2008r)
Zadanie 1. 

[image: image1.wmf]A

a

)

N

H

2

C

H

3

H

N

O

3

d

y

m

.

H

2

S

O

4

s

t

ę

ż

.

N

H

3

C

H

3

N

O

2

H

S

O

4

N

H

4

O

H

N

H

2

C

H

3

N

O

2

[image: image2.wmf]N

H

2

C

H

3

+

 

H

2

S

O

4

N

H

3

 

H

S

O

4

C

H

3

N

H

3

 

H

S

O

4

C

H

3

N

O

2

N

O

2

N

H

3

 

H

S

O

4

C

H

3

N

O

2

H

N

H

3

C

H

3

H

N

O

2

N

H

3

C

H

3

N

O

2

H

C

H

3

N

H

3

N

O

2

H

N

H

3

C

H

3

N

O

2

H

-

 

H

N

H

3

C

H

3

N

O

2

H

S

O

4

H

S

O

4

H

S

O

4

H

S

O

4

H

S

O

4

[image: image3.wmf]N

H

2

C

H

3

N

H

C

O

C

H

3

C

H

3

 

C

H

3

C

O

)

2

O

 

H

N

O

3

/

H

2

S

O

4

N

H

C

O

C

H

3

C

H

3

N

O

2

N

H

2

C

H

3

N

O

2

H

2

O

/

O

H

[image: image4.wmf]..

..

..

..

:

H

2

O

C

6

H

5

C

O

H

+

..

..

..

+

 

 

O

H

..

..

C

6

H

5

C

O

H

H

C

H

C

H

3

C

O

H

:

C

H

C

O

H

C

H

3

..

C

6

H

5

C

O

H

C

H

C

H

3

C

O

H

:

:

C

H

3

C

H

2

C

O

H

+

 

O

H

..

..

..

..

..

:

..

..

-

 

H

2

O

C

H

3

C

H

C

O

H

C

H

3

C

H

C

O

H

b)

..

..

..

..

C

6

H

5

C

O

H

H

C

C

H

3

C

O

H

:

O

H

C

6

H

5

C

H

C

C

H

3

C

O

H

..

C

6

H

5

C

O

H

H

C

C

C

H

3

O

H

:

:


[image: image5.wmf](

R

)

-

3

-

m

e

t

y

l

o

h

e

k

s

a

n

-

3

-

o

l

+

C

H

C

H

3

C

3

H

7

C

H

2

H

+

 

H

C

H

C

H

3

C

3

H

7

H

C

H

3

C

H

2

C

H

3

C

3

H

7

C

H

3

:

:

O

H

H

+

C

H

2

C

H

3

O

H

C

3

H

7

C

H

3

C

H

2

C

H

3

H

O

C

3

H

7

C

H

3

c

)

(

S

)

-

3

-

m

e

t

y

l

o

h

e

k

s

a

n

-

3

-

o

l


[image: image6.wmf]d)

 

(

Z

)

-

p

e

n

t

-

2

-

e

n

C

C

C

2

H

5

C

H

3

H

H

o

k

.

 

0

o

C

+

(

2

S

,

3

R

)

-

p

e

n

t

a

n

o

-

2

,

3

-

d

i

o

l

C

C

H

O

O

H

C

H

3

C

2

H

5

H

H

(

2

R

,

3

S

)

-

p

e

n

t

a

n

o

-

2

,

3

-

d

i

o

l

C

C

H

O

O

H

C

H

3

C

2

H

5

H

H

K

M

n

O

4

a

q

C

C

O

O

M

n

O

O

C

2

H

5

C

H

3

H

H

C

C

O

O

M

n

O

O

C

2

H

5

C

H

3

H

H

+

C

C

C

2

H

5

C

H

3

H

H

K

M

n

O

4

a

q

o

k

.

 

0

o

C

-

 

M

n

O

2

H

2

O


Zadanie 2

[image: image7.wmf]C

H

3

H

O

C

2

H

5

H

T

s

C

l

p

i

r

y

d

y

n

a

C

H

3

T

s

O

C

2

H

5

H

N

a

C

N

D

M

S

O

C

H

3

C

N

C

2

H

5

H

C

H

3

C

O

O

H

C

2

H

5

H

H

3

O

D

t

T

s

C

l

 

=

 

p

-

C

H

3

C

6

H

4

S

O

2

C

l

 

(

c

h

l

o

r

e

k

 

t

o

s

y

l

u

)

a

)

[image: image8.wmf]b)

 

C

H

3

C

H

2

O

H

H

B

r

s

t

ę

ż

.

H

2

S

O

4

C

H

3

C

H

2

B

r

1

)

 

N

a

C

N

2

)

 

H

3

O

 

 

,

 

D

t

C

H

3

C

H

2

C

O

O

H

C

2

H

5

O

H

,

 

H

 

 

k

a

t

.

-

 

H

2

O

C

H

3

C

H

2

C

O

O

C

2

H

5

1

)

 

2

 

C

2

H

5

M

g

B

r

2

)

 

H

3

O

C

H

3

C

H

2

C

C

H

2

C

H

3

C

H

2

C

H

3

O

H

C

H

3

C

H

2

B

r

 

 

+

 

M

g

T

H

F

C

H

3

C

H

2

M

g

B

r

[image: image9.wmf]H

2

S

O

4

c

)

C

H

3

N

2

 

C

l

H

N

O

3

C

H

3

H

2

S

O

4

s

t

ę

ż

.

C

H

3

S

O

3

H

1

)

 

N

a

H

C

O

3

2

)

 

N

a

O

H

,

 

D

t

3

)

 

H

3

O

C

H

3

O

H

C

H

3

N

O

2

C

H

3

N

H

2

1

)

 

S

n

 

+

 

H

C

l

2

)

 

N

a

O

H

 

a

q

o

k

.

 

0

°

C

N

a

N

O

2

,

 

H

C

l

a

q

+

 

O

H

C

H

3

p

H

 

~

1

0

O

H

C

H

3

N

2

 

 

C

l

H

3

C

N

H

3

C

N

[image: image10.wmf]C

H

3

C

O

C

H

2

C

O

C

2

H

5

O

:

:

:

:

C

H

2

C

H

C

O

2

C

2

H

5

+

E

t

O

 

N

a

 

 

(

k

a

t

.

)

l

u

b

 

E

t

3

N

C

H

3

C

O

C

H

C

H

2

C

H

2

C

O

2

C

2

H

5

C

O

2

C

2

H

5

H

3

O

 

 

 

,

 

D

t

-

 

2

 

C

2

H

5

O

H

,

 

-

 

C

O

2

d)

N

a

B

H

4

C

H

3

C

H

C

H

2

C

H

2

C

H

2

C

O

O

H

O

H

C

H

3

C

C

H

2

C

H

2

C

H

2

C

O

O

H

O


Zadanie 3 
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Zadanie 4

  a) reakcja nie zachodzi
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  c) reakcja nie zachodzi
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Nazwy:  A: kwas 5-(p-metylofenylo)-5-oksopentanowy,  B: kwas 5-(p-metylofenylo)pentanowy,

              C: 5-(p-metylofenylo)pentanoamid,  D: 4-(p-metylofenylo)butyloamina

[image: image21.wmf]C

H

3

C

H

2

N

H

C

H

2

C

H

3

H

H

C

H

3

C

H

O

H

H

C

H

3

C

H

H

H

N

H

C

H

2

C

H

3

+

 

C

C

C

H

O

H

H

3

C

H

C

H

C

H

C

H

2

H

2

C

D

t

C

H

3

C

H

2

N

H

2

k

a

t

.

 

H

+

k

a

t

.

 

N

i

2

 

m

o

l

e

 

H

2

A

 

 

(

c

i

s

)

B

 

 

(

c

i

s

)

C

 

 

(

c

i

s

)

d)


